l:gl%zglac\'ion

’ Reud\ 'H\"&-'\~ 'FDI‘ o dscne,'l?, PMJ.om Wlau& ‘Hm u?ec"‘e&
value s lE[X] Z P(x\

x€ Ry

¢ -r‘\b QJXFQCJ"C/(X va Lke/ IE[)(J O'P o~ wn‘hnu.ous MnJ«om VoS 4\0[&

X s pes
[E[X] j (xs Jx

¢ ‘n\w o,x‘:w\’ e,& va\lu.e/ O'F N ‘Pumcj\on [ (X)] o“" [\ wn'Hn wowus

rm&om vw‘m\a‘e/ X s

H: [ 8()()] J J(x) £.(x) dx

S Note thad thic formula holds 2ven if 3()0 s not o

ooh'hnwo\ks PM\JOW\ vorioble,




¢ L‘me.cu‘"“i 0“' EX&"KHOV\.‘ For 0m7 con ;‘"an"'s o o.ncl b’

[E[o\X-'- \o] = o E[X] * b

-)\Uk\"? E[ax+b] = J(ox+b)'Fx(x)Jx = aj?x-Fx(x)Jx + Lj:'r‘x(x)v]x

= o E[X] + b-)
‘ TL\& Voridnce NML S+M¢’~0!'¢L &v;a.‘HOn afe p\e‘PmeL as ba‘FO(’G‘

&, = '\w [x]

* Variance o o Linear Funchon: For any conshunte a and b,
\/&P[O\X"'b] = ALV(AP[XJ




| - ‘Fx = O¢ x¢ |
\ 2-x V¢ ¢
' O 2€ ¥
|

- Defermine. the CDF,  Fu(x): j L5

Evalwd‘e/ co.se -\oy - co.Se.

x<O0: Fx("):jO du = O
-0
o X
O¢xcl Fx(x>‘j0 du _,.J‘.M\u = O+ 5.0\1)]: _ _;\)g.
-0 o
o 1 K
1¢ ¢ X Fx(x)'-" 506\4\ +Sudu\. +5(1-u>6u
=% o \
= 0+ (3D, + (aw-L))

|\ 2
= O + ;—_"' Qx’Jix'—“l""‘i = TIX + Ax — |

2( X - Fx(t()"‘ \ e— Since we've a‘MoA.l n‘rf‘BSNJ‘QL the honw — 2ero ua.lu.es.




¢ Exvung\&‘ : f\‘p" (X)
—O/: a X
Re ()

> Deermne. P[{ 3 < X ¢2}]

‘Fx(A:’ X Oe xc¢ |
2-x V¢ ¢
O L€ X
Fx(¥)= © * <O
J,:,("' O¢ ¢\
Lyt +ax -l e xed
\ 2 ¢ X

G RRIOREIG R SEETO)



e Evumdo: () 0 x <O
M | ‘Fx()A: X Oc¢c ¢ |
\ 2-x V¢ w2
' r 4 O A< X
(») |

"
Q
+

C N
(A
Xv
\—
S =
4
—~
x
~
\
W
- P
+

'é's >
> Defermine  E(X'] - o
o o | 2 co
[X"]’--é x"‘Fx(x)éx le Odx + Jx x 4%+ \‘S\x" (a—x)éx +jx O dx
1
R T T I SN C RO TR

= 4 l6-12-2 _ 7

2 Determine \lu‘[)(] L > 6

Varlx] = E[x*] - (E() = Z- (V"= ¢



° . A{:,, x) ¢
EXM‘M&‘ IS | ‘Fx(’A - S Oc¢ ):uol
__/ \ 2-x V¢ w2
' O 2€ ¥
O I L X
| _4‘5(") _ 5&) = (=1 x %
O Sex¢ _3,.:
bt > + | 3¢ %
L T T X x
% 2
-1 4—o
> Determine |E[ 3()()]
© /2 O
T [S(X)] S.S(")'F (x)dx = 5( 1)-Odx + J'(_,\ < 4 450 « dx
Va
3/1. o
M SO (2- *)éx 5("") (Q‘X)s‘x 5(4-\) O dx

32

( \)(’iX)l::L-i- (-«-\) (lx-;x")lbh = -.-'8- + (q-g)-(3 -_Qg_)_._ o



